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Annotations used in the detailed Mark Scheme (to include abbreviations and subject-specific conventions)

Mark Scheme

Meaning

Annotation

Tick

Development of point

incorrect

Irrelevant (material which doesn’t answer the
question)

Caret sign to show omission

Opinion

Just/Justification

Good language

Poorly expressed

Past tense correctly used

Future tense correctly used

Present tense correctly used

Accurate language

A/H B HH B HH %S

Inaccurate language

Abbreviations
/
()

Meaning

Alternative and acceptable answers for the same marking point

Words which are not essential to gain the mark
Underlined words must be included to gain the mark

June 2012
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12 Subject-specific Marking Instructions

You should print out a copy of the paper and work through it yourself (using the transcript for the Listening activities which you can find at the end of
the Mark Scheme, if the audio version is not available on the portal.) You will need a copy of the written texts to refer to during the marking process in

order to spot excessive lifting in Exercises 6 and 7. The texts will not appear automatically on your marking screen.
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Section A: Listening and Writing
Exercise 1:
Question Answer Marks Guidance
[13]
1 al) 1
Multi-choice

2 < 1

3 < 1 either

4 - 1 Marks entered individually. No need for annotation. Enter 1, 0 or NR as

5 o 1 appropriate.

6 < 1 or

7 u 1 This Exercise is scanned in by the page. Marks are awarded individually.

No annotations are necessary.

8 al) 1

9 < 1

10 -« y

11 - 1

12 all 1

13 all 1

Total
13
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Exercise 2
Question Answer Marks Guidance
[12]
(<all) V- ol 1
YA il g Gap-fill

(<) - oes 1 either

(gTa Y- 2w 1 The elements are scanned in individually. No annotation is necessary.

(g) A Culd Enter 1, 0 or NR as appropriate. Ignore misspellings.

Y- J.'\AJ‘S.A 44l

() 1o g o)) 1
(z) Yool aald 1
(2) V- f 1
@) VYo 1
(3) £ Rase 1
(3) Y V- 2l alaxi 1
(L) Yoo adle o 1

Total

12

Or
The elements are scanned by the page. No annotation is necessary.
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Exercise 3
Exercise specific guidance:
e Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate)
For single mark questions no annotation is necessary just enter 1, 0 or NR.
There is no need to use a cross (x) for an answer that is clearly incorrect. Use it when you have had to think and decided not to award the mark
or when a word in the response invalidates an otherwise acceptable answer.
You may also use the highlighter tool to show harmless additions.
Answers in Persian get no marks.

Question Answer Marks [15] Guidance

1 Voluntary (work in Iran) / Charity work 1 Any indication to voluntary or Charity work

Additional information is not penalised

2 A charity (organisation) 1

3 Helps young girls / females (1) who have run away from 2
home (1)

4 Female (volunteers) / 16-25 years old women / Speak 1

English or Persian / have computer skills

5 Teaching English (1) and (using) computer (1) 2 Reject teaching by itself.

6 Some / younger volunteers do sports (activities) (1) and 2 Accept also young volunteers/workers...(1), Older
some / others prepare the educational programme (1) volunteers/ workers ...(1)

7 (Costs of) plane ticket, food, or transport / place(any two) 2

8 If they don’t have a place (1), they will be given a room 2 Idea 1: If not have place

(place)/ Staying place (in the Foundation) (1) Idea 2: (Foundation) will give

9 To have more opportunity/ time(1) to practise conversation / 2 Mentioning only ‘practise’ or ‘practise English’ do not
talking / speaking practice English language(1) acceptable
Total 15
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Exercise 4 10 marks for Communication (Grid H1), 10 marks for Quality of Language (QoL)
Exercise Specific Guidance

e The candidate response will be scanned in twice. The marks for Communication are awarded the first time. The second image is for you to
assess the QoL.

Communication: This is a transfer of meaning exercise, not a word-for-word translation, so there may be several ways of putting the points
across. Key elements of the points are underlined in the mark scheme. For communication / content, assess as a “sympathetic native speaker
/ sympathetic examiner” and give credit accordingly.

Annotations:
In the body of text, use a tick (v') to show that a point has been fully and successfully conveyed.
If an element of the point has been omitted, use the caret sign ().
If a point has been omitted, is incorrectly rendered or is rendered in a way that would be incomprehensible, use no annotation.
Use a cross (x) when a word in the response invalidates an otherwise acceptable answer.
The annotations will give a global impression to help you apply Grid H.1 accurately and consistently.

Grid H.1: The ticks will show the number of points successfully conveyed. These will normally correspond with the marks you award.
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Exercise 4. Communication points

June 2012

Question Answer Marks Guidance
Model response [10] Accept Do not accept

oliy Ay o fiaa ()

phs b

&SV a5 s (o) gl o bt ghy S S Jlin aS By (1

324 ol giga [ Lal odel Lia o Ll 5y 53 e /a3l ) Lad

salail ‘)SWISJ\MJJAJJ‘)A/HSWGM&S&\)@&JBUMJ

[ a8 JisnalS S jae S Gl dw jo [ aSen

1Ol 0 (S aS/Enl (L) G B Sa e ) S

S A

of S (S L alise sla 538 50 (0o sladaald) (e S

[ o013 S oad o Jlal o 4y (681 504 B 4y (e () il
Communication, Grid H.1 10
Quality of Language, Grid C.2 10
Total 20
Total for Section A 60
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COMMUNICATION

GRIDH1 10 marks AO2
9-10 Most or all of the information successfully conveyed.
7-8 Three quarters of the points conveyed.
5-6 Half of the information successfully conveyed.
3-4 Only a quarter of the points conveyed.
0-2 Very little or no information conveyed.

10
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QoL: Read response again and assess for language.

¢ Annotations: you may use the underlining tool (--) to show language errors if you find it makes it easier to apply Grid C.2, but it is not essential.

e Grid C.2: Key words have been highlighted in the Grid. Remember that this grid is also used to assess accuracy at A2. At AS level, one year
beyond GCSE, the only complexity of language that is expected is that required by the Exercise. Identify the band which best matches the
performance. If you identified the band without hesitation you must award the higher of the two marks.

QUALITY OF LANGUAGE — ACCURACY

GRIDC.2 1 40 marks AO3

9-10 Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.

7.8 Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. Generally correct use of complex
structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.

5.6 Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct use of
complex sentence structures. The performance is likely to be patchy and inconsistent.
Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival

3-4 agreements) but evidence of correct use of simple sentence structures. Vocabulary and structures may be quite strongly influenced by
the candidate’s first language.

0-2 Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common nouns).

Frequent first language interference.

11
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Section B: Reading and Writing

Mark Scheme June 2012

Exercise 5
Q all Crand - 0yl Marks Additional Comments
1 o atching beginnings and ends of sentences
(1) i 1 Matching beginni d ends of sent
2) 3l Marks entered individually. No need for annotation. Enter 1, 0 or NR as
1 appropriate.
(3) @ 1
(4) < 1| O
(5) -l 1 1 mark for each correct answer
(6) <@ 1
(7) - 1 This Exercise is scanned in by the page. The marks are awarded
. individually. No annotations are necessary. e candidate has put more
8) Y individually. N tati If th didate h t
1 than 10 ticks add up the total number of correct marks and deduct 1 mark
(9) - 1 for each tick over 10
(10) < 1
O Crad - 0 CRad

(1) <& 1
@ z 1
(3) all 1
(4) < 1
(5) K 1
(6) 5 ]
(7) J 1
®) z |
(9) z 1
(10) ¢ 1

Total 20

12
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Exercise 6

Exercise specific guidance

Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate). The entire
page will then appear on the screen for you to assess the QoL.

Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not appear
on the screen.

Go through all the responses and assess every question for comprehension.

a. Marks are awarded on a point by point basis, according to the mark scheme.

b. Minimal (additional) irrelevance can be ignored BUT mindless copying (often long chunks) results in no marks for comprehension or
QoL

c. For comprehension / content, remember that you are a “sympathetic native speaker / sympathetic examiner”. If language interferes
slightly but it is clear that the candidate has understood, give the mark for content / comprehension (unless there is ambiguity or it is
gibberish). Limited ability to use language will be reflected in the mark awarded under grid C2. If appropriate, candidates may
answer with single words / short phrases.

Annotations:

Award 1, 0 or NR without annotation.

Use a tick (V') to indicate a mark awarded on any question where the answer is more than one mark.

Use a cross (x) when a word in the response invalidates an otherwise acceptable answer.

Even if the answer is lifted verbatim from the text, as long as it is a direct answer, award the comprehension mark but highlight and exclude
from Quality of Language assessment.

13
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Question Expected Answers Marks [20] Guidance
Accept Do not accept
2 Qs e Gla et Shae b s 68 Sast (dle (oiany) O 1 Any indication to
be concurrent
3 Ol 5 dld gan 1
4 ) A Kaa i U gl el ol s 1 Anything which
transfers this
meaning
5 Lla Cpl g3 1 o) (o )il 4y dad 48 2S (oa SE ] 0S o0 JLA [ 380 ) gl 0 )Yy 2
L NiedBdle Gl g 5 40 L0y surprise or
) disbelief should
be pointed out
T O S g aSd iy A U G 4s s -(1) Jlasl(Olil) / Gliia o A 2 Some reference
(1) 28 Hle puaay /i) awk S to that particular
. ) trip for 1 mark
8 Olea (Led) 1
° A San (L& 0500 ) 1) (dsere GG s (1) (o GdUlS Gam g 2
(1)
10 S0 o e [.380 S e 02 o b ) (Gl b ) el skl slalingg ) 5 Jae a3 ) 1 Drinking is not
A5 S e acceptable
11 (1) s o 4048 (1) @l [ Qs [ laieddle a3 ye 2
12 1 Mentioning ‘near or

A0 I8 (Y e 53 ) OV s pb Ay (g [ (e [ (A3 10

close or around
Saholan’ is not
acceptable

14
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13 23 S e ) sm Ol YL gl G [/ B i la (BE SIgl ¢ss 1
14 | e s sl st [y cuae [ il G 3 Sa o) Ul e 4y 1
A Ol
15 A0S b e e [asee 2330 gl 1 Ul (e sb) 1

e Assessing Quality of Language

a.

b.
C.

You will get a separate screen which will be the whole page (unannotated). Read all the answers again. You may use the green L
marking tool to highlight good language to assist you in the application of Grid C.2. but it is not essential.

Apply Grid C.2 and enter the mark.

When candidates have left several questions unanswered, click on “fit height” to have an overall view.

e If only 1/3 of the questions have been answered, the maximum mark for C2 is the 5/6 band

e If only 2/3 of the questions have been answered, the maximum mark for C2 is the 7/8 band

QUALITY OF LANGUAGE - ACCURACY
R G2 10 marks AO3

9-10 Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.

7.8 Language generally accurate. Shows a sound grasp of AS and/or A2 structures, as appropriate. Generally correct use of complex
structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.

5.6 Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct use of
complex sentence structures. The performance is likely to be patchy and inconsistent.
Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival

3-4 agreements) but evidence of correct use of simple sentence structures. Vocabulary and structures may be quite strongly influenced by
the candidate’s first language.

0-2 Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common nouns).
Frequent first language interference.

15
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Exercise 7

Exercise specific guidance

Have a copy of the text to hand and familiarize yourself with it, so that you can easily spot instances of lifting from the original. Only the

candidates’ work will appear on the screen. You will have three successive screens 8a, 8b and then 8a + 8b again, but without the annotations in
order to assess QoL.

Exercise 7(a) Comprehension. Grid | [10 marks]

a. Annotations:

In the body of text, use a green tick v" to show that a point from the mark scheme below has been fully and successfully conveyed.
¢ If an element of the point has been omitted, use the caret sign (1).

If a point has been omitted, is incorrectly rendered or is rendered in a way that would be incomprehensible, use no annotation.

The annotations will give a global impression to help you apply Grid | accurately and consistently.

Grid I: Looking at the annotations, assess what proportion of the points has been conveyed and apply Grid |. Enter your mark.

Copying / lifting: If chunks of the text are simply copied, award marks for comprehension but there is a limit of 3-4 marks for (a) if the entire
answer is lifted (see Grid I). Verbatim copying of the stimulus text results in no marks. Use the highlighting tool (...... ) to show lifted
language. Only phrases of 5 words or more should be counted as lifted language.

16
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Indicative content

Marks [10]

Guidance

2 2l dsaa | (a5 (U sa g8 Cumen s sl Ll ) oaans -
_.AJ\J‘_,,_A

Co
nte

Levels of Response

Grid |

jM@bMﬂbJ@)JMyMA\ UM‘PMQ;LJ?&“MUJ}\ -Y
Sl ‘;Lu.u 5

COMPREHENSION OF TEXT

Ul s 58 dlasinl g 48e (5 pRaranal ()3 age dale 50 Jlulad IS ki 4y Uy -
S SaS f coalid 4 il Glales 5l jole 5 Ha4S

ij%}ﬁujuijdtﬁ)ls&b&ﬁ\j&uﬁ;\ JQJMJJ\AM‘)&_I\A:U\ »=°

alen ) asle 5800 4 (Ul s 5 shen Al 4S diaBine Glulid IS i g 5k -1
salal sl K55 (gl U 2Bl 43 o iad 5550 sm 5 (oand (S ¢ mkaly
g

U S CSaS (Ll s 53 4 30 55 4dlilha gl (sla SIS U il 53 g0 (sla IS -V
gl G Ay 28l g sl ) (o iy caalid

1) 353 ppaal (Ul 5 45 S0 SIS (glad a3 43 K (Gl L 5 any -A
JRKT N ‘):ua:t oJ.'\:t\ J\S 3 ‘;:\‘AA:‘ LSMJ Lﬁ"Ju.JJ

o)\.._id..g\JJ‘;Q\)'A)L.'\«ST;JJd@oJJL@UaJQ\ﬁ)}jéJ}SJ\)’A}A-‘\

L S S 3
Jﬁégcd&;ﬁgo)\ﬁ%&\;&waﬁj)Aé&uﬁw\@g\};‘)duﬁ%-\~
O b Gl 4

sy alee 208 53 e 4S 21 ) A0 Cy S 2

Al 1y Sy g SE ales ) 6800 ladad Ll ) oaS dlaai )Y

9-10

Consistently relevant information. Includes
nearly all the points from the original
passage. Shows a very clear
understanding of the text

7-8

Relevant information showing
understanding of up to two thirds of the
points from the original passage. There
may be one or two instances of lifting from
the original passage.

5-6

Some relevant information showing
understanding of up to half of the points.
There may be instances of lifting from the
original passage.

3-4

Little relevant information. Includes up to a
third of the points, showing understanding
of some of the points. Over-reliance on
phrases lifted from the original passage.
0-2.

No relevant information or supplies one or
two relevant points from the original
passage.

17
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Exercise 7(b)

Response Grid J [20 marks]

Mark Scheme

June 2012

Question

Answer

Marks

Guidance

[20]

Content

Levels of Response

No Indicative Content — personal response

Grid J: Looking at the annotations, assess
the quality of the response to the text and
apply Grid J. NB: “imagination” and
“insight” are interpreted conservatively.
The number of ticks you have awarded
will indicate a mark band. You must then
use your professional judgement to fine
tune your marking. You may look at the
quality of the candidate's points and go
down a mark or two if they seem rather
pedestrian or repetitive. Similarly an
attempt at originality or humour could gain
an extra mark or two. Enter your mark.

o Use the green tick (v') in the body
of the text to show each opinion /
personal response and a green tick (v'+)
in body of text to show a development /
extension of the opinion. NB: one opinion
may have several extensions.

GRID J
RESPONSE TO TEXT

16-20

Responds with well developed
points of view which show insight,
originality and imagination.

12-15

Expresses points of view which are
consistently developed and respond
to the requirements of the task.
Shows some originality and/or
imagination

8-11

Expresses points of view which
respond to the requirements of the
task. Some of these may be
developed and there may be some
originality and/or imagination.

4-7

Manages the beginning of a
response to the requirements of the
task. May have difficulty in
expressing and/or developing
points.

0-3

Very short. May not go beyond
points of view already expressed in
the original text.

18
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Exercise 7(a) + 7(b) — Language (QoL) — Grids C.2 and F.2: [20 marks]

Question Answer Marks Guidance
Exercise | Assess for Quality of Language using Grids [20] | @ Read the whole response again and assess for Range (Grid F2) first —i.e.
7a+b C2 and F2 vocabulary and structures. Then assess for Accuracy (Grid C2). Key words
Appendix 1 have been highlighted in the grids below. Ignore final sentence of 3-4 band in

Grid C2, because vocabulary and structures have already been assessed
under Grid F2. If you wish, you may use the underlining tool (--) to show
language errors if you find it makes it easier to apply Grid C.2, but it is not
essential. Enter your mark.

b. Ignore language lifted from the text when assessing language (See Exercise
7a above). Lifted language is not credited for QoL — only content points
and/or personal response.

19
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APPENDIX 1
QUALITY OF LANGUAGE - ACCURACY QUALITY OF LANGUAGE (RANGE)
GRIDC-2 1 10 marks AO3 GRIDF-2 | 10 marks AO3
Qharacterlsed by a high and consistent level of accuracy Effective and confident use of a wide range of vocabulary
9-10 in use of complex structures, although there may be 9-10 and idiom with a variety of complex sentence structures
some errors. :
Language generally accurate. Shows a sound grasp of Effective use of a range of vocabulary and structures
AS (and/or A2) structures, as appropriate. Generally appropriate to the task, with little repetition. A positive

7-8 correct use of complex structures. Tenses and 7-8 attempt to introduce variety and to use a range of complex
agreements good, although there may be some sentence structures (though not always able to maintain
inconsistency and errors in more complex areas. correct usage).
Shows evidence of fair understand[ng of grammatical Attempts to extend the range of vocabulary, though still
usage. Generally accurate use of simple sentence o

5-6 structures. Some correct use of complex sentence 5-6 rgther repetitive. Att.e mpts to use more complex language

g th some success in producing a range of syntax and

structures. The performance is likely to be patchy and w P >INg 9 y
inconsistent. sentence structures appropriate to the task.
Evidence of gaps in basic grammar. Frequent errors of
an elementary kind (endings, verb forms, gender of Use of a restricted range of vocabulary and structures.

3-4 common nouns, adjectival agreements) but evidence of 3.4 Frequent repetition of the same words and phrases. Some
correct use of simple sentence structures. (Vocabulary attempt (not necessarily successful) at the use of more
and structures may be quite strongly influenced by the complex sentence structures.
candidate’s first language).

Little evidence of grammatical awareness. Persistent,

0-2 serious and elementary errors (endings, verb forms, 0-2 Only simple sentence patterns. Very limited vocabulary. Very
gender of common nouns). Frequent first language limited range of structures.
interference.

20
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APPENDIX 2

Transcripts of Listening Texts

Tapescript for Exercise 1 [SETTING: RADIO REPORT]

ALE S jy ) o pal

OUilsa g 9 OlSAsS Cunadldi A& Ja 0dl gilA LA

5SS Cadd ad ) Ha el e il (go Lt (sl el Sl (Slagiae (i) S o

A S R g g o0l A i IS G 5 SasS a5, S o 2 48 Gl Ul sa 5

e 011 K el 5 ald ame 52 1) 258 (Sa S (0 48 lsa s celidgl 5 Lk 4
S il 5 el U )y (Sl A L 5048 (S0 € 0 by ) sl SIS (R 4y s K5
5ol s i «SasS sy o SasS Olse o sible slacual Il seaie 4 Lyl oad
Lol 5548 b S aaii 5l 2 gdioe 3l Gl dr (Sai) am slas 50 53 4S Gl lacad i

i Ol 83 € Cadd k5 58U dale (5 it 03l gilA sliac] ualcuse 5 carea
BRNEN OIS RTSTh gyt DU PLIUH QUREOVIRER- 3 PEUST NG PUPRS IR TS IPRUIPR' 5 S WOt
ol (52 2L Le (sl U ) 51 (5l (g0 080 Gl il ot O (5 sm s ) dad 5 ol (5

) gyl e 5 Sl puiialaie] 58S ce 4y i | el eal glA o b gl S8
) 4l o0

2 Gl IS Gl SR Ay s )5k 5 Wi JUEET Jae 00l 1A e coal sila ulid IS gorie 43 L
odiaalaie) a8 ) Giely (pl ) ) 28 )8 Byl 3 ) e caan )30 g o)) Wds o )l sad pale 5 )Y
Ddien SaS

Dl € et (B J) Jls oy 2 1) Ol S e laial e« ale 5 L e ladal Cusd g
e8I alie K0 6IA Jana S0 S HaaS U ea g UGG $lE 4S e e ol (i) R ol

AS st (5381 3 g e () s1E CINA (LA IS Sy 4S g 3 70 0 Sl Gl Jle (51l i

R (P P E P PR AL I PLgT

21
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Tapescript for Exercise 2 [SETTING: RADIO REPORT]

PSS )= ¥ o pal
e IS

OB A (1) 5 s S 533 6 Clu_n s s (OIS 4y 53 siladny Il sledl sila ) L
5ol 5 % Gusdi b G 4 ladas (e ) (S )8 ol adings sadia Hhala 4y Ladd Ul ) sy
L i Ga s (e st 5 QR Ol by Ol alen ) calide GlagadIS 43 50 a8
G3sa 4alal i gis 8l ladns () ) 25000 48 50 b 8 (iSe Jlid ) s 8aL 4aBdle 5 B
Oo8e M pt A
shal L;m)géﬁ.mmzudujsjzdﬁ ca byl 4l cudasal A ) ) So e geal BA
_M)JLA
O3 s o b A Suigi g3 e IS Ll s ol B sy IS 45 (Sdluciudia g ) sia
dia Yl g Gl sily GadS 4 sie 4S Al a2 sd sle dia ) ey ad g 4% K oL saali 5 Lac
(e O 3as ol (sl ga (B85 4S s 8 ol ab 5 Ayl Sal U dia 5 ad o pisien 5 odl (sAakad
DALl Kol sy sty 4S allad s V) il a5 W) G 4S 0 sd e (e ) aike
o3 4alal oail 3 Ui g e 5 488 8 0y sd LA ) (s IS 4 (Sllucia 1 4S5 K 5
aodle Dl 4y (G dieaBdle i 5 et LS an a4 sudld Gol b Jla s 4p 48 G e ol
0% Vs 0 Ol Cd iy 48T i A ge Ja) o jole (ooal SR oy (S35 e S )
03 o AV cadinn sy st 3o GaIS 4y 551 s s 480 (s ¢l 4R () 55 Lndny 4S 45 e

.. :~.~
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Tapescript for Exercise 3 [SETTING: RADIO ADVERTISEMENT]

Exercise 3

Voluntary Work in Iran

w148 s o8 4 CSaeS () Sl Glo) 53 4 gle Sl <S4S el Ay
O ab gl gy G a0 3l Gl gy aila iy 4y le s Gl ) 00 (s il S )

il iy LS i gndS L 5 2 Cuma )l 5 a0 L) 4 2 g adly Yo )Y

S0 gl 5l by ) iR 4 iS5 ol Gl a1 bt gy IS
aSladl ) ad aal A ealdinl (oapd sladabis ) r 80 lllagla ) 5 (85 slacullad g)
5wz ol et (s et Cala gy (B lll gy 4y Cand (5 1S S oy S el
i (soage 43 (Ul el g ) 5 138 (g 8 cland sa Sy J g aes 1l D U1 )

NI

DL cmb‘\ﬁu\mumud\}‘;}\au\_}uaj\d‘\se‘)jmjdjm‘ U‘,)@—.’.J'G-""JJJI:L“U:?\ JSJA

s 0ala Gl 4y 83U 2L o L) Chae

Lol 1 il 30 o yiaa L ladl o)y 5s) el ik Gk gl 48 a3 e goa 5 bk Cy pa

0 O Oledeal 4 ren D SO allioa 1AL 4851 AallSe G el () RN Cua 8

Al e Al (Sl (54l
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